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B~\ (CBCS) DEGREE EXAMINATION, APRIL 2023
| Sixth .Se‘mester
Kconomics
Major Elective — PLANNING AND GROWTH
(For those who joined in J ﬁly 2017-2019)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questic;ns. |
- Choose the correct answer :
1.  Qumgens GumrmeTTsmy @Gh@@ﬂmmtﬁ QI
praEpLer Cgm e g '
() ueTiipgl Q@D
(<) '@mﬁéﬁmmpﬁ;g.
@) mﬁﬁéﬁmml_uwg;'-

(FF)  euen(i&él @emmlw



Generallvy economic development 1s associated
with ————— countries.

() Developing
(b) Developed
(¢) Underdeveloped

(d) Less development

apewde pés EPD SHSMS eBAUNsS e
(1) enuGeaudaer (<) Bi&6
(@) b bls (F)  omraged

The concept of vicious circle of poverty was
developed by

(a) Samuelson (b) Nurkse

(¢ Adam Smith (d) Marsha

SLib ofls aseer BT e euaiEdlée SESLNT
anyeflaar ererm @DHLEC erenmi?

(@) epusfurart (=) cuaflaraer

(@) NewsrWser (M) Qsmfler gpenenGaur

Which is not the agents of growth according 'O
Adamsmith?

(a)  Producers (b) Business men

() Farmers (d) Entrepreneur
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soflae aearréflaw sNssnt

(=) abfelsonen (<) evldlg

(&) CorevGim () s grnuley

Balanced growth was supported by

(a) Hirschman (b) Smith

(¢) Rostow (d) Arthur Lewis
sacllL@un(meTadt quarisdl wrdlfaws eaflueui wrir?
(=) QuapaCorley () eu&s&dd

(@) 1Cwds spdly 58 (rr) CeraCGa

Who propounded wage - goods model of growth? -

.(u) Mahalanobis

(b) Vakil
(¢) Ramesh Chandra Dutt
(d) Gokhale

apgrl - GLnwoi wrdd sameug

(=) APS = MPS (<) APS > MPS

(@ APS<MPS (7) APS+MPS=1
ITarrod - Domar model states

(@) APS=MPS (b) APS>MPS

() APS<MPS d APS+MPS=1
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Sipdacn@asald oy @bHu Qaranaon e nu) iy

Qi) e 0, apponangy gbsrdsd S gid b apcrggflenn
g:i):g\,:-a)ys‘:.)‘n)e'o.@, Qandadn g

() idle eniphdlmdnd (o) epps Quaan («ni) @amflasgieom

(%) @D e-pLHH Hpd (@ Gouamaa manp (1) arglapfldme

(@) vwsyiuCL Lliisd ‘ The highest priority given in the first five year

o) Quiflw ucnmamallea wphldutb plan was

i ; . . x Lot a)  social services
Which of the following is not a characteristic of (
Indian agriculture? () industrial seeton
(¢) agricultural seetor
(a)  Over - dependence
. ()  none
(b)  Low level of productivity
o . 10, cuanibageu@nid  mr@s@ndsrar &g AT F
(¢) . Multiplicity of erops (pmeadlen s Blteud wini p

(d) Predominance of large forms (o) ALK Qacn
() Cym_chr

Spdoem_mamaild  ay @hAumaiar Blei@uilu
; i ' A PL.CLwnanaCGrm&icy

Govarnedt gmifhe Qapmfld (&) anaw G

try i T

(1) gajail (<op)  snbsm)
Who was the first to advoeate a rolling plan for
(@) o (1) e developing countries?
Which of the following is India’s largest agro - (") ALK Sen
based industry? . (M Rodan
(a)  Textiles (b)  Sugar (©)  P.C. Mahalanobis
(¢)  Coir ) Jule (d)  Myrdal
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PART B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

Iach answer should not exceed 250 words.

(<21)

( '."':‘b)

Qummerngng  paGappagéE  Quir@antgryg

aland Nh@d odrar Gaigiuradt wrear?
What are the differences between cconomic

development and cconomic growth?

Or

Qurgarngny apanoapgesl ubdl wigiugde
apdfldgiaudangnd eania.

State  the of the study of

cconomic development.

significance

ainfleoowupn cenisd wrdflulld parcawnamen
[CNIGES

Point out the advantages of unbalanced
growth model.

Or

swH@owner wendd wrdNuler Sewsamer
aifi@atiiBége.

List out the disadvantages of balanced
growth model.
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13.

14.

—~———

(1)

(1)

(<21)

(=4,)

Qungamgny  eueriéd wrdiseller penemwsn
wnenm1?

What are the uses of growth models?

Or

anym’. Gumof eueriéd) wrdf ereueunm euerisd
Gaflu  prigneg  Quimpsd  e@Ues
afard@e.

Explain how the Harrod - Domar growth
model is applicable to under developed
country.

Q;,_r,mﬂsbg;u'_u wirppser Qrsdamenaamen sa &,

State the problems of technological chnages.

Or
Gsmleamu Qedlefer SLENeunen
H(HHEIEEMETE Tam)s.
State the arguments for technological
intensive.

Hrtpsae aajuan Qaiis.
Define planning.
Or
B4 2Curé upd @iy aemys.
Make a short note on NITI AAYOG.
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PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).
Itach answer should not exceed 600 words.

16, (o) euaniéd) GONHS Qumperngmyss e
@udLsmard gnmis.
State the features of under developed
cconomy.
Or

(cgp) Qupiewulelr BEsE  SPPIGETET  SITEATHEISENET
aflau],

Deseribe the causes for vicious circle of

poverty.

17. (1) CoravCGin
e arrdi &,

wrdflllar  uoCey Flowsmer

[ixplain various stages of Rostow model.

Or

(<) @eoppsules Lely punids Gemiumigeen
ey Qaiis,

Critically examine the eritical minimum
effort theory.
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(<)

(<)

Gumnir  euatidé

angml - wrdflullemen

Neré@s.

Describe Harrod - Domar model of economic

growth.

Or
adu  Qumolasr  eaueaidd  wrHillleer
wAUSE Cels.

Examine the wage goods model of economic

growth.
Qurmerrsny arGarppsded Coustrameniower
urideer elaréEs.
Explain the role of agriculture in economic
development.

Or
Quremsny aGappsde Qsmfnampuler

unidlenar eNenéEs.
Describe the role of Industry in economic

development.
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* 20,

(<21)

(<)

g smear () Hrugafler Gemdveifldiamen
smyemmisamear @B @s.

Point out the causes for failures of five year
plans. ~
Or

@pHureler  Qungparmsry  Frdmssrismarn
upM efouflée. :

Describe the economic reforms in India.
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